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פרוק  לגורמים – כפל  מקוצר
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נוסחאות  הכפל  המקוצר:
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· תחום  ההצבה  נקבע  גם  לפי  התרגיל  המקורי,  כך  שלא  יהיה  אפס  במכנה.

1. 2x2 – 50    (    2 (___ - ___)    (    ___(___ + 5)(___ - ___)

2. x3 – 25xy2     (    ___(___ - 25y2)     (     x(x + __)(___ - ___)

3. a6 – 16b4    (    (a3 + ___)(___ - __b2)

4. 8m4 – 50n6    (   __(4___ - _____)       (    2(____ + ___) (___ - 5n3)

5. 16x4 – 1     (   (___ + ___) (___ - ___)     (    (4x2 + ___) (___ + __) (__ - __)

6. 
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תחום  ההצבה:  a ( __,__
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     .  חילוק  הוא  כפל  בהפכי   (   
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תחום  ההצבה:  y ( ___ , ___ ,  ___    ,     x ( ___  
· תשובות:  1.  2(x + 5)(x – 5)      2.  x(x – 5y)(x + 5y)       3.  (a3 + 4b2)(a3 – 4b2)    
4.  2(m2 + 5n3)(m2 – 5n3)      5.  (4x2 + 1)(2x + 1)(2x – 1)      6.  
[image: image10.wmf]a1

a1

+

-

  a ( 0,1
7.  
[image: image11.wmf](2x3)(y1)

15

+-

    y ( -1,0,1     ,  x ( 3/2
[image: image13.wmf]עבודה  נעימה




































































































































�











�











[image: image12.jpg]

[image: image14.png]


_1211931094.unknown

_1211931331.unknown

_1211931777.unknown

_1211932133.unknown

_1211932185.unknown

_1211931778.unknown

_1211931404.unknown

_1211931277.unknown

_1211930990.unknown

_1211931023.unknown

_1195398439.unknown

